
 

 

ЀЀЀЀЀЀЀ 7 Ѐ 8 (15 ЀЀЀЀЀЀЀ) 

I. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

1. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ p  Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ X : 

Ѐ) 
0 1

0,3
X

p

 
 
 
∼ ; Ѐ) 

2 1 2 4

0,1 0, 4 0,2
X

p

− 
 
 
∼ . 

2. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ A : 

Ѐ) ЀЀЀЀЀЀЀ A  «ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ»; 

Ѐ) ЀЀЀЀЀЀЀ A  «ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ» Ѐ ЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ p  ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 

Ѐ) ЀЀЀЀЀЀЀ A  «ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ» Ѐ ЀЀЀЀЀ ЀЀ n  ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ p . 

 

3. ЀЀ ЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀ 8 ЀЀЀЀЀ Ѐ 6 ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ «ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀ 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ».  

4.  ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ X  ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ: 

0,2 0,4 0,8 1

1 3 1 6 1 4 1 4
X

 
 
 
∼  . 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ: 

Ѐ) 5 3X − ; Ѐ) 
2

X . 

5. ЀЀЀЀЀЀЀЀ, ЀЀЀ 
2

I I= , ЀЀЀ I  — ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 

6. ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ X  Ѐ Y  ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ: 

1 2 3 2 0 1
,

0,7 0,3 0,1 0, 2 0,3 0,4
X Y

− −   
   
   
∼ ∼ . 

Ѐ) ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ X Y+ ? ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ-

ЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ?  

Ѐ) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ X Y+ , ЀЀЀЀЀЀ, ЀЀЀ X  Ѐ Y  ЀЀЀЀЀЀЀЀЀЀ. 

7. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ p  Ѐ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀЀ X  «ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ». 

8. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 10 ЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ 

ЀЀЀЀЀ 0, 45 . ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ «ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ». 

9. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ n  ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀ-

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ p  Ѐ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀЀ «ЀЀЀЀЀ ЀЀЀЀЀЀЀ». 
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10. Ѐ ЀЀЀЀЀЀЀ 8 ЀЀЀЀЀЀЀ Ѐ 9 ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 5 

ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ «ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀ». 

11. ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀЀЀЀ N  — ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, n  – ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, K  – ЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ.  

12. Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ A  Ѐ B  Ѐ ЀЀ ЀЀЀЀЀЀЀЀЀЀ AI  Ѐ BI . 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ: 

Ѐ) B ; Ѐ) A B∩ ; Ѐ) A B∩ ; Ѐ) A B∩  

13. Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ A  Ѐ B  Ѐ ЀЀ ЀЀЀЀЀЀЀЀЀЀ AI  Ѐ BI . 

Ѐ) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ A B∪ ; 

Ѐ) ЀЀЀЀЀЀЀЀЀ Ѐ. Ѐ), ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ: ( ) ( ) ( ) ( )P P P PA B A B A B∪ = + − ∩ . 

14. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ Ѐ) 3 ЀЀЀЀЀЀЀ; Ѐ) n  ЀЀЀЀЀЀЀ: 

 

II. ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

15. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ — ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ A , ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ p . 

16. ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ X . ЀЀЀЀЀЀЀ E X : 

Ѐ) 
2 1 2 4

0,1 0,4 0,3 0, 2
X

− 
 
 
∼ ; Ѐ) 

3 2 2 3

0, 2 0,3 0,3 0,2
X

− − 
 
 
∼ . 

17. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀЀЀ 

Ѐ) ЀЀЀ ЀЀЀЀ; Ѐ) ЀЀЀ ЀЀЀЀ; Ѐ) n  ЀЀЀ. 

18. Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ 200 ЀЀЀЀЀЀ-

ЀЀЀ. ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-

ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ  

Ѐ) ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ; Ѐ) ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 

19. Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ.  

20. Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ, ЀЀ ЀЀЀ N  ЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀ-

ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ-

ЀЀ ЀЀ ЀЀЀЀЀ, Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ – ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ, ЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀ.  

III. ЀЀЀЀЀЀЀЀЀ 

21. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ – ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ I  ЀЀЀЀ-

ЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ p . 

22. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ p  ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ?  

23. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ  

Ѐ) ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ; Ѐ) ЀЀ ЀЀЀЀ ЀЀЀЀЀЀ. 
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24. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ «ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ» ЀЀ 

ЀЀЀЀЀЀ 25. 

25. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ «ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀ» ЀЀ ЀЀЀЀЀЀ 18. 

 

ЀЀЀЀЀЀ 

1. Ѐ) 0,7 ; Ѐ) 0,3 . 2. Ѐ) 
0 1

1 3 2 3

 
 
 

; Ѐ) 
( ) ( )

4 4

0 1

1 1 1p p

 
  − − − 

; Ѐ) 
0 1

1 p p

 
 

− 
.  

3. 
0 1

4 7 3 7

 
 
 

. 4. Ѐ) 
2 1 1 2

1 3 1 6 1 4 1 4

− − 
 
 

; 
0,04 0,16 0,64 1

1 3 1 6 1 4 1 4

 
 
 

.  

6. Ѐ) 2, 1,0,1, 2,3− − ; ЀЀЀЀЀЀ; Ѐ) 
2 1 0 1 2 3

0,07 0,17 0,06 0, 21 0,37 0,12

− − 
 
 

. 7. 

2 1

1 2 3 ... ...

... ...
k

k

p qp q p q p
−

 
  
 

, ЀЀЀ 1q p= − . 

8. 
10 2 10 10

10

0 1 ... ... 10

0, 45 10 0,45 0,55 ... 0,45 0,55 ... 0,55
k k k

k

C
−

 
  ⋅ ⋅ 

. 

9. 
1

0 1 ... ...

... ...
n n k k n k n

n

k n

q npq C p q p
− −

 
  
 

. 

10. 
5 1 4 2 3 3 2 4 1 5

9 8 9 8 9 8 9 8 9 8

5 5 5 5 5 5

17 17 17 17 17 17

0 1 2 3 4 5

C C C C C C C C C C

C C C C C C

 
 
 
 
 

.  

11. 
1 1

1 ... ...

... ...

m n m m n m k n k M n

K N K K N K K N K K K

n n n n

N N N N

m m k M

C C C C C C C C

C C C C

− + − − −

− − −

+ 
 
 
 
 

, ЀЀЀ ( )max 0;m K n N= + − , 

( )min ,M n K= . 

12. Ѐ) 1 BI− ; Ѐ) A BI I ; Ѐ) ( )1 A BI I− ; Ѐ) 1 A BI I− . 13. Ѐ) A B A BI I I I+ − .  

14. Ѐ) ( ) ( ) ( ) ( ) ( ) ( ) ( ) ( )P P P P P P P PA B C A B C A B A C B C A B C∪ ∪ = + + − ∩ − ∩ − ∩ + ∩ ∩ ; 

Ѐ) ( ) 1

,1 ,2 ,3 ,
1

P σ σ σ ... 1 σ
n

n

i n n n n n
i

A
−

=

 
= − + − − 

 
∪ , ЀЀЀ ,σ n k  — ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀЀЀ k  ЀЀ n  ЀЀЀЀЀЀЀЀЀЀЀ. 

15. E AI p= . 16. Ѐ) 1,6; Ѐ) 0. 17. Ѐ) 7; Ѐ) 10,5; Ѐ) 3,5n . 18. Ѐ) 40, 2 ; Ѐ) 160,8. 19. 2. 20. 1. 21. 

pq , ЀЀЀ 1q p= − . 22. 0, 25  ЀЀЀ 0,5p = . 23. Ѐ) 35 12 ; Ѐ)35 6 . 24. 1. 25. 1050,56; ЀЀЀ. 32,41. 
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